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Choose the rorrect option for follorving questions@
and car ual marks

Which of the following state@
Blocked to running

The srtuation wliere more ilian one processes uc..rs i*i ,pd,rt"
concurrently and the resr"rlt depends on the seqllence ol cxecution ill

lace is knor,r'n as

Critical section

the sanre ciat:i
u,hich ii takes
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Optiorr A:
Option B:

Option C: e ,nU.r.tt'icrj OS --
Opiion D: Batch OS :i .1.=.; :.i:-.;, ...' ,;f' ..-1:

2.

Optjon A:

Option B:

Option C: -". 'i,i'.:"i: .".' rd : : \' ..i-i -.4

,.," t: 1..,_". .,r:-,:,.

Option D:

o'j.:,'
Option B;,

..1'.4,. "'.:l Degree qf multiprogramr:ring is characteristic of
Uptlon A:
Oniion R:

Long Term Sclreduler
Shoit Term Sclreduler

Option C:
Option D:

Mediunt Ternt Scheduler'
ulSpatch.er

f.
- : '.:

Option A:



Option B:

Non-critical sectionOption C:

Race condition

V/irich algorithm requires that the system must have some additional a priori
inlormaiiorr available about resources?

Deadlock preventionOption A:

Deadlock recovery

Deadlock avoidance

Deadlock allocationOption D:

lacerlent al.qorithm suffers from Belady's Anoma

Option C:

OptionD:

Protcction or Pernrission

Option A:

-

r-RU
FiFO

None of the Above

6. Which teclurique is used to overcr^'me erternal fi'agrr,entation rr;heq D)rnarnic

Partitioning is used dunng the process io mernory allocation?
Option A: Poili

fault
Context sw'itch
Compaction

9. Which one is not a file attributes?
Time, date ald rrser identificaticn
Name

algorithm, the disk head moves from one end to the other,
servicing requests along the way, when thc heaci reaches the other end, it
irnrnediately returns to the beginning of the disk without servicing any requests
on ihe return trip.

LOOK

Oplion B: C.LOOK

C,SCAN

SCA\I

Solve any Four out of Sir 5 marks each

Describe mictokemel
What is the need of tlrread? Dcscribe at,v fotir acrvautages of multithreading
nrociel.

Ilorv to solve busy u,aiting problern?
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Deadlock

Ootion D:

6.

Cption B:

Option C:
.".1: *.:'"L:

,* -- *.1
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:t.

Option A: 'i:s'-r.', n,+',. -..,.-t:- 1.,-,' 
tt, = -:'lr'...-":,,'i -.. ..-i .'i ' 

--

Ontion B:
I 1,' .1 .'.,'. :.: ... :r r-.1!

Opdon C: Ontimai
Option D:

;1! , .i r-'.:' ;)

Option B:

OptionA:
Option B:

\.- :' ,-' .1 ')*,'* ' . -.r' :

'" .i .: :' ;+ .'d' \.\ j-:

Option C:

OptionD:
i:r .. 1' i . ,r:i . t.r .:! .i" nJ -.:-_, ,..:i' i...r. ,:
:.,.:..-,-...i.." .,.,., -.-. \. T. :a" _.]..t:._ .i:.,..:.

In
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D What is the producer consumer problem? Provide solution to producer
cousumer problem using lemaphores.

E Give details of file organization types
F Give details of IO Buffering techniques.

Solve any Tlvo Questions out of Three

Consider the follor.r.ing set of processes.

Process Burst Time
Arrival
Time

Priority

P1 0 4 2 (L)

?2 1 1I .,.t'S;

P3 2 ) 6

P4 3 5 '10
P5 4 1 B

P6 -l 4 12 (H)

P7 6 6 ...9
i,tote Higher number is having higher priority: -

l. Draly Gantt chart foi SiF-Preemprire Scheduling and

2. Calculate avemge waiting tirneo avcrage runrarormd

Preemptive Prioritv

time and average

Define Deaolock. i.*plairt rhe nccess.rry
Suggest techniques to avoid deadlock

=-:-----::-Gr,,en ti'e memory/ parlitioit of 100 KB, 500 KB, 200 KR, 300 KB, and 600
KB (in order), how would the first-fit, best-fit and worst-fit argorithms place
processes of P1-212 KB.P2-417 KB, P3-l12 KB andp44Z6 KB (in order)?
which algonthm n'rakes the most efficient use of memory? use fixetl size

mic parlitioning method.

Soll,e any Two
Draw and Explain five state

I-tescribe Disk Scheduline algolithrns with exam
Erplain Filc Allocirtion nrcrl')ods in detail.

5 marks cach

10 marks each

Explain rvith the hc.l m call will be
Explain the effect of

1t) marks each
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